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Question Number : 1 Question Id : 1679436312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
500 students appeared in an entrance examination that had Maths, Physics and Chemistry papers. The following
diagram represents the number of candidates who failed in different subjects in the entrance examination.

A

Chemistry

Maths Physics

Based on the given diagram, determine how many students failed in at least two subjects?
Options:
® 25

% 31

Question Number : 2 Question Id : 1679436313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the following information carefully and answer the question that follows.

Seetha and Banu play carrom and volleyball.

Keerthi and Devi play tennis and badminton.

Banu and Keerthi play badminton and volleyball.

Seetha and Devi play carrom and tennis.

Who among the following plays tennis, volley ball and carrom.

Options:
# Devi

% Keerthi

« Seetha



# Banu

Question Number : 3 Question Id : 1679436314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Consider the following statements to be true and decide which of the given conclusions logically follow(s) from the
given statements.

Statements:
All kids are angels.
All angels are flowers.

Conclusions:
I. All kids are flowers.
II. All flowers are kids.

Options:
»» Only conclusion I follows.

% Only conclusion IT follows.

% Either conclusion I or II follows.

% Both conclusions I and II follow.

Question Number : 4 Question Id : 1679436315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If “ear’ is called ‘hand’, ‘hand’ is called ‘eye’, ‘eye’ is called ‘nose’ and ‘nose’ is called ‘mouth’, then with which of the
following would a person see?

Options:

% Lye

« Nose
% Hand

% Mouth

Question Number : 5 Question Id : 1679436316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the option that gives the correct order of the given letters as indicated by their corresponding numbers to form a
meaningful word.

AR
1 2

A

VTE
4 56



Options:
# 135624

Question Number : 6 Question Id : 1679436317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Swathi walked northwards, turned left and walked | km and then again turned left and walked 2 km. She found herself
exactly | km west of her starting point. How far did she walk northwards initially?

Options:
# 1 km

# 1.5 km

Question Number : 7 Question Id : 1679436318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the given information carefully and answer the question that follows.

‘M + N" means ‘M is the daughter of N*
‘M — N’ means ‘M is the wife of N”
‘M (@ N’ means ‘M is the son of N”

IfA @ C-B * D —+E, then how i1s D related to A?

Options:
% Father

% Mother
% Grandfather

» Data inadequate.

Question Number : 8 Question Id : 1679436319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Study the following matrix and choose the missing character (given by ?) from the given options.

A7Z4 BYl6 CXo4d

DW3s ? FU125

GTo HS36 IR216

Options:
® EU25

# EVI10
« EV25

# EX25

Question Number : 9 Question Id : 1679436320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Five persons are standing in a line. One of the two persons at the extreme ends is an Advocate and the other is a Clerk.
A Teacher is standing to the right of a Doctor. An Engineer is standing to the left of the Clerk. The Doctor is standing
between the Advocate and the Teacher. Counting from the left, the Doctor is at which place?

Options:
% First

« Second
% Third

% Fourth

Question Number : 10 Question Id : 1679436321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the missing term.

0, 1, 1,235,568, 13, ., 34, 55, 89
Options:
» 21

% 23



Question Number : 11 Question Id : 1679436322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first.

Rajasthan : Jaipur : : Uttar Pradesh :

Options:

# Allahabad
% New Delhi
# Meerut

« Lucknow

Question Number : 12 Question Id : 1679436323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In a certain code language, 85721 is written as ZEGYT and 2346 is written as YCDF. How will 823451 be written as in
that language?

Options:

# ZYDCFI

# ZYDCEI
« ZYCDEI

# ZYCDFI

Question Number : 13 Question Id : 1679436324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Study the following patterns carefully and accordingly choose the missing character (given by 7) from the given
options.

Options:
% 82

« 811
# 812

# 810

Question Number : 14 Question Id : 1679436325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options. choose the pair of numbers analogous to the following pair.
4:1024

Options:
« 10 : 100000

® 6:216
% 10 : 10000

® 5:625

Question Number : 15 Question Id : 1679436326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25
fX+Y=A+B,Y+B=2X,B+K>X+Y, A+B>X-+K, then which of the following is correct?

Options:
# X>B>Y>K>A

#$ B=Y>K>X>A
SB>X>Y>K=>A

# X>Y>B>K>A

Question Number : 16 Question Id : 1679436327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
All the hard work done by you is hijacked by vour higher official and the brickbats are left for you. You will:

Options:
% Start praising yourself for all the achievements.

» continue, as hard work always pays.
% leave the job and look for greener pastures.

% learn to make the right moves at the right time.

Question Number : 17 Question Id : 1679436328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct option to fill in the blank.

azby, cxdw, eviu, . irjq
Options:
% glht
% grhs

« gwhx

» gths

Question Number : 18 Question Id : 1679436329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



From the options, choose the most appropriate description for the following three words.

Sigma : Omega : Phi
Options:
% These are signs of Geometry.

« These are Greek letters.
# These are Latin letters.

% These are used in Physical derivations.

Question Number : 19 Question Id : 1679436330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Consider the following statements to be true and decide which of the given conclusions logically follow(s) from the
given statements.

Statements:
Some boys are engineers.
All engineers are brothers.

Conclusions:
I. Some boys are brothers.
II. All brothers are boys.

Options:
» Only conclusion I follows.

% Only conclusion II follows.

% Either conclusion I or II follows.

s Both conclusions I and 11 follow.

Question Number : 20 Question Id : 1679436331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

After leaving his office, Suresh first walks 30 m in the north-west direction and then 30 m in the south-west direction.
Then, he walks 30 m in the south-east direction. Finally, he turns towards his office. In which direction is he moving?
Options:

# South

% South-east



% North

« INorth-east
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Question Number : 21 Question Id : 1679436332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which famous Chinese traveller visited India during Emperor Harshawardhana's reign?
Options:

» Hieun Tsang

% Zhang Qian

% Ban Chao

« Ban Yong



Question Number : 22 Question Id : 1679436333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who wrote the book “The Discovery of India™?

Options:
% Sardar Patel

% Vivekananda
% Mohammad Alil Jinnah

« Jawaharlal Nehru

Question Number : 23 Question Id : 1679436334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Capital of British Indian Empire was transferred from Calcutta to Delhi in:

Options:
® 1919

« 1911
# 1909

# 1915

Question Number : 24 Question Id : 1679436335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which is the largest mica producing state in India?

Options:
% Jharkhand
% Bihar

% Madhya Pradesh

« Andhra Pradesh

Question Number : 25 Question Id : 1679436336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following islands/groups of islands is/are located in the Arabian Sea?



Options:
% Sriharikota

# Car Nicobar
» Lakshadweep

% Sagar Island

Question Number : 26 Question Id : 1679436337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is incorrect?

Options:
» The President of India is directly elected by the people of India.

% The President of India submits his resignation to the Vice-President.
» The President of India holds office for a term of five vears.

% Minimum age requirement for election as President is 35 years.

Question Number : 27 Question Id : 1679436338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A Panchavat continues for from the date appointed for its first meeting.

Options:
% SIX years

% ten years
» five years

g SEVCN Yeals

Question Number : 28 Question Id : 1679436339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Total number of Parliamentary Constituencies in Uttar Pradesh is:

Options:



# 84
« 80

® 74

Question Number : 29 Question Id : 1679436340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What was the total volume of Pulse production in India in 2016-17?

Options:
« 2295 million tonnes

% 142.15 million tones
% 80.15 million tones

% 62.95 million tonnes

Question Number : 30 Question Id : 1679436341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When was the Indian Rupee de-linked from the Pound Sterling?

Options:
# 1982

« 1975
# 1963

# 1947

Question Number : 31 Question Id : 1679436342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which state has the famous Chander! textile originated?

Options:
» Rajasthan

% Gujarat



» Madhya Pradesh

% Uttar Pradesh

Question Number : 32 Question Id : 1679436343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
To which state does the Mohinivattam dance belong?

Options:
% Karnataka

% Tamilnadu
% Andhra Pradesh

+« Kerala

Question Number : 33 Question Id : 1679436344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following classical dancers established the academy of music and art called ‘Kalakshetra®?

Options:
% Mallika Sarabhai

% Sonal Mansingh

« Rukmini Devi Arundale

% Balasaraswati

Question Number : 34 Question Id : 1679436345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
“Deepak Lather™ is associated with which of following sports?

Options:
% Badminton

% Boxing

% Wrestling



» Weightlifting

Question Number : 35 Question Id : 1679436346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the number of centuries scored by Chris Gayle up to 2018 edition of Indian Premier I eague?

Options:
6

Question Number : 36 Question Id : 1679436347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following blood vessels carries deoxygenated blood?

Options:
# Aolta
v PlIL[Ilmlal'}’ artery

% Ventricles

% Pulmonary vein

Question Number : 37 Question Id : 1679436348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which yvear did UNICEF come into existence?

Options:
# 1991
% 1975

# 1962

« 1946



Question Number : 38 Question Id : 1679436349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When is World Malaria Day celebrated?

Options:
% 13 May

w 4 April
« 18 May

o 25 April

Question Number : 39 Question Id : 1679436350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Varuna 2018, the joint naval exercise between India and France was divided into phases.

Options:
® 1

Question Number : 40 Question Id : 1679436351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
has become first city in India to run on 100% renewable energy during dayvtime.

Options:
« Diu
% Panji

% Leh

% Dharamshala
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Question Number : 41 Question Id : 1679436352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The difference between two numbers is 642. When the greater number is divided by the smaller number, the quotient is
8 and the remainder is 19. If the sum of the numbers is divided by 27, the remainder will be:

Options:

% 6

® 9
« 10

% 11

Question Number : 42 Question Id : 1679436353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T (2.4)%+3(17.28)+6(2.4)* (0.13)% +(0.21)*

. then the value of v x lies between:
(2.4)*+3(11.52)+9 (0.29)2 +21(0.07)2 : V{_

Options:
% 0.1 and 0.3

% 03and 0.5



% 0.5and 0.7

« 0.7 and 0.9

Question Number : 43 Question Id : 1679436354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

=2 -3 = = 2 2
On simplification, > ) e s X (%) = [(—53]5 X G) X (—3)2] reduces to:

4x23 6=
Options:
# 0.05

% 0.1

Question Number : 44 Question Id : 1679436355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

19 1 Gl . ;
If T T where a, b and c are positive integers. then the value of 3a — 2b + 4c¢ is:
a+
b

L1
+ |&
=l

Options:
o 35

® 0

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 45 Question Id : 1679436356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ina schooLg of the total number of students are girls. The age of i of the number of boys is less than 12 years and the

age of 2 of the number of girls are of 12 years or more. If the number of students aged 12 years or more is 572, then
what is the number of girls in the school?

Options:

# 390



Question Number : 46 Question Id : 1679436357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The value of a diamond is directly proportional to the square of its weight. A diamond breaks into three pieces with
their weights in the ratio of 3 : 4 : 7. If there is a loss of Z 4.88 lakh, then what is the actual value (in lakh Z) of the
diamond?

Options:

# 6.92

# 06.96

Question Number : 47 Question Id : 1679436358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The average age of A, B and C is 68 years. When D joins them. the average age comes down to 64 years. If a new
person E whose age is 3 years more than D replaces A, then the new average is 63 years. What is the age (in years) of A?

Options:
® 57

®
h
20

4
L
o

% 60

Question Number : 48 Question Id : 1679436359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Radha bought a bag at a 30% discount on its list price. She sold it at a price that was 120% of the list price, making a
profit of ¥180. What was the list price of the bag?

Options:

% <320

« T360



# $400

® T420

Question Number : 49 Question Id : 1679436360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A person lent out a certain sum on simple interest and an equal sum on compound interest at a certain rate per annum.
He noticed that the ratio of the difference between the compound interest and the simple interest for 3 years to that for 2
years is 78 : 25. What is the rate (in %) of interest?

Options:

% 10

102
2

#

w12

12

Question Number : 50 Question Id : 1679436361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The length and breadth of a rectangular tank are 120 m and 75 m. respectively. At what speed (in km/h) must water flow
into it through a square pipe with side 20 cm so that the water in the tank rises by 2.4 m in 18 hours?

Options:

® 28

o 30

o
fad
[

Question Number : 51 Question Id : 1679436362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Two trains of lengths 300 m and 240 m. respectively, run on parallel tracks. When running in the same direction, the
faster train (A) passes the slower one (B) in 54 seconds, but when they are minning in the opposite directions, they pass
each other in 27 seconds. What is the ratio of the speed of A to that of B?

Options:
o 3:1



®
I
f_“d

Question Number : 52 Question Id : 1679436363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A can complete a task in 20 days and B in 30 days. They worked together for 10 days. The remaining work is
completed by C in 2 days. If they get a sum of ¥ 9,000 for the whole task. then what is the daily wage of C?

Options:
% ¥ 300

® <450
# €550

« <750

Question Number : 53 Question Id : 1679436364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The product of two, 2-digit numbers is 2028 and their HCF is 13. What is the sum of the numbers?

Options:
« 91

# 117
# 130

# 143

Question Number : 54 Question Id : 1679436365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The numbers 6654, 7506 and 8997 give, in each case, the same remainder (y) when divided by a certain number (x).
What is the sum of (the greatest value of x) and (y)?

Options:
® 259
® 261

o 264



# 267

Sub-Section Number: 2
Sub-Section 1d: 167943361
Question Shuffling Allowed : Yes

Question Id : 1679436366 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (55 to 56)
Cuesticon Label | Comprehiension

Study the following pie-chart and table and answer the question that
follows:

Distribution of students studying different discipline in a university.
Total number of students = 18000

Ratioof Males and Females

Discipline Male : Female
Arls 5:4
Commerce T:11
Management 9:8
Engineering G:3
Science 13:14

Sub questions

Question Number : 55 Question Id : 1679436367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

For students studying management. engineering and
science, What is the difference between the average
number of male-students and the average number of
female-students?
Options:

® 135

« 140
# 142

# 146

Question Number : 56 Question Id : 1679436368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



If the number of students studying Arts and
Commerce is x% more than the number of female-
students studying Commerce, Management and
Science, then the value of x is?

Options:
2
o

1
% 145
2
v 145

13-
3

Sub-Section Number: 3
Sub-Section Id: 167943362
Question Shuffling Allowed : Yes

Question Id : 1679436369 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Juestion Label | Comprehension

Study the following graph which shows the percentage profit of two
companies A and B over different years and answer the question that
tollows:

income —expenditure

x 100

— Company A

% profit =

expenditure

—— CompanyB

80
70
60
50
40
30

20

Percent profit carned

10

2006 2007 2008 2009 2010 2011

Years



Sub questions

Question Number : 57 Question Id : 1679436370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The expenditures of Company B in 2006 and 2007
were in the ratio of 6 : 7, then what was the
respective ratio of the incomes?

Options:
% 29:32

« 58 :63
#13:14

% 29:32

Question Number : 58 Question Id : 1679436371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the expenditure of company A in 2009 was < 80
lakhs and income of A in that year was equal to its
expenditure in 2010, what was the total income (in
lakhs) of A in 2009 and 20107

Options:

# 112

# 118

Sub-Section Number: 4
Sub-Section 1d: 167943363
Question Shuffling Allowed : Yes

Question Id : 1679436372 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label @ Comprehension



Study the following bar graph which shows a company’s production of
products A and B over the vears and answer the question that follows:

B Product A ® Product B
— 00 o500
3 610 600 59p
£ 600 550 : s - :
Seo B CHE 430 _
:"5 400
= am 350 2 = ; 3
E300 - — — — — —
E 200
E
..g 100
A& o L
2010 2011 2012 2013 2014
Years
Sub questions

Question Number : 59 Question Id : 1679436373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The number of years in which the production of
product B was more than the average production of
product A for the given five years?

Options:
% 1

® 2

« 3

Question Number : 60 Question Id : 1679436374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Production of product A during 2010, 2012 and 2013 together was x%o less than the total production of product B during
2011, 2013 and 2014.
‘What is the value of x? (correct to 2 decimal places)

Options:
# 19.35

# 19.13
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Question Number : 61 Question Id : 1679436375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct synonym of:

frequently
Options:
% sometimes

« daily
g rarely

» often



Question Number : 62 Question Id : 1679436376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct antonym of:

displeasure

Options:
g annoyance

% disobedience
» approval

% discrimination

Question Number : 63 Question Id : 1679436377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct ANTONYM of the underlined word to fill in the blank.

The company hired the new designer because she claimed to be creative but she turned out to be quite in her
designs.

Options:
% persuasive

» lnimaginative
% artistic

% lngenious

Question Number : 64 Question Id : 1679436378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the correct word.

I’m planning a trip to Bali in month of July, when the weather will be good.

Options:
% this

# some



« the

Question Number : 65 Question Id : 1679436379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank space with the appropriate word.

Aanva is a fun loving girl. She likes to with her friends in the park.
Options:
% playing

» blay
% plays

% played

Question Number : 66 Question Id : 1679436380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the appropriate word.

We should write to the chief minister giving our views on the unauthorised parking on busy roads of Delhi.
Options:
% usually

» definitely
% incidentally

% Clearly

Question Number : 67 Question Id : 1679436381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In the following sentence four words or phrases have been nnderlined.
One of them is incorrect. Choose the incorrect word or phrase from the given options.

Many small towns and communities all over the world had their own awards ceremonies, for local writers or artists, or
just for people who have graduated from high school or got a university degree and brought fame to the community.

Options:




+ had their own
« tor people who
% Or got a university degree

% brought fame

Question Number : 68 Question Id : 1679436382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

I don’t think I want to contest the election unless I am surety of my victory, for I am in no mood to face defeat at the fag

end of my political career.

Options:
# Idon’t think

» unless I am surety

% I am in no mood

% to face defeat

Question Number : 69 Question Id : 1679436383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Choose the passive voice form of the given sentence.

As soon as the storm began. volunteers started evacuating children and the elderly from their homes.
Options:

% As soon as the storm begins children and the elderly start being evacuated by the volunteers.

» Children and the elderly started being evacuated by the volunteers as soon as the storm began.

% When the storm begins children and the elderly started being evacuated by the volunteers.

% Children and the elderly were being evacuated by the volunteers as soon as the storm began.

Question Number : 70 Question Id : 1679436384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Choose the most appropriate indirect speech form for the following sentence.

Mamta said, *“Just my luck! I never thought I would miss the bus today.”

Options:
% Mamta exclaimed, Just I am lucky. I never thought I would miss my bus today.

» Mamta exclaimed that she was unlucky as usual. She added that she had never thought she would miss her bus that day.

% Mamta was unlucky. She said she had never thought she will miss her bus that day.

% Mamta said she was just lucky but she added that she had never thought of missing her bus today.

Question Number : 71 Question Id : 1679436385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the option that best combines the two given sentences.

There was a sudden landslide. The driver noticed it in the nick of time, applied brakes and saved many lives.

Options:
w The driver, who noticed the sudden landslide in the nick of time, because he applied brakes and saved many lives.
 The driver, who noticed the sudden landslide in the nick of time, applied brakes and saved many lives.

« The driver, which noticed the sudden landslide in the nick of time, had applied brakes and saved many lives.

% The driver, who applied brakes and saved many lives, has noticed the sudden landslide in the nick of time.

Question Number : 72 Question Id : 1679436386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the passage that is correctly punctuated.

Options:
% Mother Teresa, who was honoured, with the Bharat Ratna, for her great social work, became a saint.
» Mother teresa who was honoured with the Bharat ratna for her great social work became a saint.

% Mmother teresa who was honoured with the Bharat Ratna for her great social work became a saint

» Mother Teresa, who was honoured with the Bharat Ratna for her great social work, became a saint.

Question Number : 73 Question Id : 1679436387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Choose the word that is correctly spelt.
Options:
% assasination

» breparation
% tounge

% benevelent

Question Number : 74 Question Id : 1679436388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the appropriate phrasal verb.

To be successful on the job front, you have to learn to all kinds of people at the work place.
Options:
« get away with

» Zet on with
% get into

« get over

Question Number : 75 Question Id : 1679436389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the appropriate idiomatic expression.

The smugglers tried to the officials but could not do so. They were soon arrested.
Options:
% Iun through thick and thin

% turn a deaf ear to

» throw dust into the eyes of

% take stock of



Sub-Section Number: 2
Sub-Section 1d: 167943365
Question Shuffling Allowed : Yes

Question Id : 1679436390 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the following passage and answer the questions that follow.

The Yoga Vasishta by Valmiki recounts the teachings that Sage Vasishta
imparted to Prince Rama of Ayodhva, when he was most anguished
about the purpose of his life. Vasishta’s teachings helped prepare Rama
to face the ups and downs of life in a way that made him known as the
ideal man. Young people. in responsible positions, are no different than
the prince. They, too, are anxious to make something of their lives. Yoga
Vasishta who offers important teachings to prepare for life says.

“These days everyone is after goals, and in achieving goals, somewhere
we lose ourselves.” He says. “Look. have a goal. pursue it, but enjoy the
path, too. Walk towards enlightenment and enjoy the path and you will
get enlightened. Often, when we are seeking an external goal, all our
attention is on it. The one who is pursuing the thing. gets lost
somewhere. This can be avoided if pay attention to what is happening
inside. Hence, when you get up in the morning, pray a little: that is, look
within. When vou start the process of looking within, you will notice
there is a principle within which keeps guiding yvou.”

Suppose we were to quieten the mind. Our activity would become more
efficient. Consider Rama only as a human being and see how he was able
to face whatever happened to him so graciously. On the day of the
coronation, he was told that he had to go away and live in exile for 14
vears. Yet, he was able to keep calm and come out victorious.

Sage Vasishta must have known what lay ahead and so prepared him to
face future events. Scriptures teach us how to keep the harmony inside us
to do our work.

Sub questions

Question Number : 76 Question Id : 1679436391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

According to the passage, what worries voung
people today?

Options:

% Thev do not want to take responsibilities

% They do not have a purpose in life



» Achieving success in life

% They want to be like Rama

Question Number : 77 Question Id : 1679436392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
According to the passage,

*Yoga Vasishta offers important teachings that can
prepare one for the life ahead.”

Here, *life ahead’ refers to

Options:
% life after death.

« life’s teachings.
% purpose of life.

" one’s future.

Question Number : 78 Question Id : 1679436393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the most appropriate option to answer the
question given below.

What is common between pursuing a goal and
pursuing enlightenment?

Options:
% QGetting anxious about success.
% Losing peace of mind over problem faced.

» Enjoying the journey to the chosen destination.

» Getting lost on the way.

Question Number : 79 Question Id : 1679436394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



According to the passage, which statement is NOT
true?
Options:

» Face life’s struggles without getting agitated.

% Carefully examine your own mental state.
» Lose vourself completely in your pursuit.

% Remain calm and sensible in times of trouble.

Question Number : 80 Question Id : 1679436395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

According to the passage, ““When vou start the
process of looking within, you will notice there is a
principle within, which keeps guiding...”

How does it act?

Options:
» Itacts as a guiding force for others

% It makes one competent

« It makes one see a fundamental truth

% It guides one to be a winner
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Sub questions

Question Number : 81 Question Id : 1679436397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TS GOl 7 3=oT giar g sOieg &
Options:

% TEROT H

« T |

Question Number : 82 Question Id : 1679436398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT & TATET H FT FeT 87
Options:

. TEafrerar gz
« 399 g

% Sera-gfTeTa

v HH WA

Question Number : 83 Question Id : 1679436399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 84 Question Id : 1679436400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
EEISEIR IS IEC I Tl

Options:
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B e

% ATdehdT T 9TaT i &

et F g Ag W §
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Question Number : 85 Question Id : 1679436401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Sub-Section Number: 2
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Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 1679436402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I e T &FAH B &

Options:
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Question Number : 87 Question Id : 1679436403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘o ored &1 JUTIETE! JALT &
Options:

% AW
« 2R
% A

Tl

Question Number : 88 Question Id : 1679436404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Y 87 F 37 T IO & BT T g

Options:

v Hied
% HFEY
» Rrar

HSS

# o
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 89 Question Id : 1679436405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
9% 9NC TAT § 99T F (Wiied 98 H A &

Options:



Question Number : 90 Question Id : 1679436406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I=oarT A H HiA-Ar I g7

Options:

Question Number : 91 Question Id : 1679436407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 92 Question Id : 1679436408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘TcHH' Uec, Fia-AT 87

Options:
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Question Number : 93 Question Id : 1679436409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fFrfaf@a & & #ia-ar weg e 27

Options:

v B

% oleh
% 35

% 3R

Question Number : 94 Question Id : 1679436410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tfafg & O 9=9a=9s T 9= oieT
Options:
» T

«

% THUIS

24

® 3l

Question Number : 95 Question Id : 1679436411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3L AFT FIA-HT g2

Options:
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Question Number : 96 Question Id : 1679436412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IR 3R AF g T & Weg e
Options:

% HaAl
a:;'ﬂél?-l'm
% TIerguoT

gmﬁm

Question Number : 97 Question Id : 1679436413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
forafef@a & ¥ wer aga=a # YgFd gl aer o2 &
Options:

% HTCH
w T

Question Number : 98 Question Id : 1679436414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 99 Question Id : 1679436415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
“aiiffufa & gagEer & v ggeEw &

Options:
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Question Number : 100 Question Id : 1679436416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 101 Question Id : 1679436417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Harappan sites are found in:
Options:

» Punjab, Rajasthan, Gujarat

% Haryana, Punjab. Delhi
» Rajasthan, Punjab, West Uttar Pradesh

% Himachal. Punjab and Uttar Pradesh

Question Number : 102 Question Id : 1679436418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Maritime activities are NOT found in:
Options:

# Lothal



% Balakot
# Sokta Kob

» Desalpur

Question Number : 103 Question Id : 1679436419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The various Harappan sites show marked uniformity in:

Options:
» Agricultural practices

% Crafts
» Town planning

% Seals

Question Number : 104 Question Id : 1679436420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Jade came to Harappan sites from:

Options:
% Maharashtra

« Central Asia
% Arabia

% Badakshan

Question Number : 105 Question Id : 1679436421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which king of Magadha transferred the capital from Rajgir to Pataliputra permanently?
Options:

« Ajatashatru

% Shishunaga



« Kalashoka

% Bimbisara

Question Number : 106 Question Id : 1679436422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

was the propounder of the Ajivika sect.
Options:
w Purana Kasapa

% Pakhuda
« Makkhali Gosala

Question Number : 107 Question Id : 1679436423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The merchant community was attracted to Jainism because:
Options:

% they did not like meat

% they did not like Vedic rituals
_» the peace and non-violence of Jainism was conducive to trade and commerce
"

% the doctrine of karma fascinated to them

Question Number : 108 Question 1d : 1679436424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Buddhist Councils were called 4 times to:
Options:
% Compile the canons

% resolve religious disputes

% maintain unity in the Sangha



» all of the other options

Question Number : 109 Question Id : 1679436425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is the least important as source for Mauryan history?

Options:
+ Coins
% Literary sources

« Epigraphic sources

» Foreign accounts

Question Number : 110 Question Id : 1679436426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is NOT an edict or inscription issued by Asoka?

Options:
» Junagadh Rock Inscription

# Bhabru Edict
« Kalinga Edict

% Delhi-Topara Pillar Inscription

Question Number : 111 Question Id : 1679436427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The seript used in the Mansehra and Shabagarhi inscriptions is:

Options:
% Aramaic
% Greek

« Kharoshthi

% Brahmi



Question Number : 112 Question Id : 1679436428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which Mauryan king abdicated his throne and followed the Jain saint Bhadrabahu to the south?

Options:
» Chandragupta Maurya

% Bindusara
% Dasharatha

% Samprati

Question Number : 113 Question Id : 1679436429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Chandragupta Maurva launched his career by first overthrowing the:

Options:
« Greeks from the north-west frontier

» Nandas from Magadha
% Shungas from the South

% Himalayan chief Parvataka

Question Number : 114 Question 1d : 1679436430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which king was described as Lord of the Five Indies’?

Options:
% Samudragupta

% Ashoka

% Chandragupta IT

+ Harshavardhana

Question Number : 115 Question Id : 1679436431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Which expression is NOT used by historians to characterise the Gupta age?

Options:
% Classical Age

% Golden Age
» Feudal Age

% Age of Brahmanical Revival

Question Number : 116 Question 1d : 1679436432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which city was NEVER a Gupta capital?

Options:
» Prayag

» Ayodhya
« Varanasi

Question Number : 117 Question 1d : 1679436433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which name is NOT applied to Chandragupta II?

Options:
« Devendra

« Devagupta
% Devaraja

% Devashri

Question Number : 118 Question Id : 1679436434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which Gupta king had to face the first Hun invasion?

Options:



» Kumaragupta I
% Skandagupta
« Buddhagupta

« Purugupta

Question Number : 119 Question Id : 1679436435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The main source(s) of ancient Indian social structure is/are:

Options:
% secular and religious literature

» foreign accounts
» both secular and religious literature and foreign accounts

» Epigraphies

Question Number : 120 Question Id : 1679436436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Minsters and royal counsellors were appointed from among:

Options:
% Merchants

+« Brahmanas

« Kshatriyas

w vaishyas
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Question Number : 121 Question Id : 1679436437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Slavery became weak in ancient India because:

Options:
% there were too many slaves

« there were various categories of slaves
% they were treated too well

» they did not engage in productive activities

Question Number : 122 Question 1d : 1679436438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The Sufi saint is considered to be the second greatest musician of his age.
Options:

« Pir Bodhan

% Mansur bin Hallaj

% Al-Ghazali



% Rabia

Question Number : 123 Question Id : 1679436439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ramanand and Kabir were:
Options:
% Peasant leaders

« Bhakti saints
% South Indians

% Guild leaders

Question Number : 124 Question 1d : 1679436440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Sufi and Bhakti movements were:

Options:
% reactions to Muslim rule
» Syncretic in nature

% led by heretics

% late medieval phenomena

Question Number : 125 Question Id : 1679436441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

is a part of Delhi where Qutb ud-din Aibak laid the foundation of the first medieval city of Delhi.
Options:
% Siri
» Tughlagabad

« Nehrauli

% Hauz Khas



Question Number : 126 Question Id : 1679436442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Who among the following was NOT a chronicler of Sultanate history?
Options:
% Amir Khusrau

% Ziauddin Barani
% Minhaj-us-Siraj

« Abbas Khan Sherwani

Question Number : 127 Question 1d : 1679436443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which foreign traveller’s accounts do NOT throw light on the history of the Delhi Sultanate?
Options:
% Marco Polo

» Abdur Razzaq

% Ibn Battuta

% Athanasius Nikitin

Question Number : 128 Question Id : 1679436444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
The coming of the Khaljis to power is known as:
Options:

» Khalji imperialism
% Khalji coup
» Khalji usurpation

» Khalji revolution

Question Number : 129 Question Id : 1679436445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The conquest of South India was completed during the reign of:

Options:
» Ghiyas ud-din Tughlaq

% Alaud-din Khalji
% Muhammad bin Tughlaq

% Mubarak Shah Khalji

Question Number : 130 Question Id : 1679436446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Babur was determined to fight Rana Sanga of Mewar because:

Options:
% The Afghans had allied with Rana Sanga to overthrow Babur

» Rana Sanga supported the Lodis
» both because the Afghans had allied with Rana Sanga to overthrow Babur and Rana Sanga supported the Lodis

5 after the defeat of Ibrahim I odi in 1526, Rana Sanga wanted to capture Delhi

Question Number : 131 Question Id : 1679436447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Akbar's marriage with the Amber princess was unique because:

Options:
% she did not convert to Islam

1t was the first Rajput marriage with a Mughal ruler
» it was a voluntary alliance, not a forced marriage

% it paved the way for hostile Mughal-Rajput relations

Question Number : 132 Question Id : 1679436448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Mewar was anti-Mughal because:

Options:



% it was hostile since the days of Rana Sanga
% Mewar was hostile to Amber which had allied with the Mughals
» Mewar considered it dishonourable to ally with the Mughals

» All of the other options

Question Number : 133 Question Id : 1679436449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Battle of Haldighat was a barren victory for the Mughals because:

Options:
« Mewar was not completely subjugated

% Rana Pratap continued to rule over Mewar except Chittor and Mandalgarh

» Only Rana Pratap's pride was injured

Both Mewar was not completely subjugated and Rana Pratap continued to rule over Mewar except Chittor and
» Mandalgarh

Question Number : 134 Question Id : 1679436450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Afghan power in Orissa was crushed by

Options:
« Raja Todar Mal

» Raja Man Singh
% Munim Khan

% Adham Khan

Question Number : 135 Question Id : 1679436451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Marathas came to be admitted into the nobility during the reign of

Options:



w Humayun
% Akbar
» Jahangir

% Shah Jahan

Question Number : 136 Question Id : 1679436452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Mughals insisted on Mansabdars maintaining mixed contingents comprising Mughals, Pathans, Rajputs etc. in
order to:

Options:

 fortify the army's strength

» Weaken forces of tribalism and parochialism
% reduce corruption

% ensure a steady supply of forces

Question Number : 137 Question Id : 1679436453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the Mughal period. Zamindars were

Options:
% Village administrators

% Village head men
» agents for collecting land revenue

« Teudatory chiefs

Question Number : 138 Question Id : 1679436454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The revolt during Aurangzeb's reign which had a peasant-agrarian background was that of the

Options:
% Marathas



« Jats and Satnamis
» Rajputs

% Sikhs

Question Number : 139 Question Id : 1679436455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which sultan has been mentioned twice in Gaya's Sultanate-era Sun Temple?

Options:
% Ala ud-din Khilji
% Qutb ud-din Mubarak Khilji

% Muhammad Tughlag

» Firuz Tughlaq

Question Number : 140 Question Id : 1679436456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which ruler founded medieval Agra?

Options:
« Firuz Shah Tughlag
« Sikander Lodhi

% Sher Shah Suri

% Babur
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Question Number : 141 Question 1d : 1679436457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Muhammad Bin Tughlaq is credited with:

Options:
» founding Daulatabad

% using Chinese architectural motifs
% 1ssuing paper currency

% founding Daulatabad and issuing paper currency

Question Number : 142 Question 1d : 1679436458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Daulatabad was chosen because:
Options:

% it had Chinese cannons

% 1t lay in India's centre

% it lay in a dry area

» 1t was centrally located and thus was suitable to govern the whole realm



Question Number : 143 Question Id : 1679436459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which ruler cleaned up Hauz Khas and built a madrassa there?

Options:
% Iltutmish

% Ala ud-din Khilji
» Firuz Shah Tughlaq

% Sikander Lodhi

Question Number : 144 Question Id : 1679436460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Sultan Ghari is the mausoleum of:
Options:

% Iltutmish

« Raziya
% Ghiyas ud-din Balban

« Nasir ud-din Mahmud

Question Number : 145 Question Id : 1679436461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is NOT true of early Sultanate architecture?
Options:

% Use of red bricks

» Iraces of an Indo-Persianate style
% Use of blue tiles and glazes

» Both traces of an Indo-Persianate style and use of blue tiles and glazes

Question Number : 146 Question Id : 1679436462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Iwan in Mughal architectural terms is a
Options:
% facade gateway

% vault

% high portal

»~ pillared construction

Question Number : 147 Question Id : 1679436463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which ruler popularised the technique of piefra dura toward the end of his reign?

Options:
» Aurangzeb

% Muhammad Quli Qutb Shah
» Jahangir

% Shah Jahan

Question Number : 148 Question Id : 1679436464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Mughal Sarais were used for:

Options:
W@ StDi‘iﬂg aun powder

» housing travellers
% housing the imperial entourage

% housing nobles

Question Number : 149 Question Id : 1679436465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who founded the city of Jaunpur?

Options:



% Ala ud-din Khilji
% Muhammad Tughlag
» Firuz Tughlaq

% Khizr Khan Sayvid

Question Number : 150 Question Id : 1679436466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is NOT located in Fatehpur Sikri?

Options:
% Buland Darwaza

% Anup Talao
» Kilah-i-Kuhna Mosque

% Panch Mahal

Question Number : 151 Question Id : 1679436467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Akbar built the Ibadat Khana for:
Options:

« holding roval durbars

% receiving royal guests
% entertaining his Rajput wives

» holding religious discussions

Question Number : 152 Question Id : 1679436468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Indo-Persianate style of architecture developed under

Options:

« Akbar



% Jahangir
% Shah Jahan

% Babur

Question Number : 153 Question Id : 1679436469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The first Europeans to come to India were the:

Options:
% PGI’EugUESE crown merchants

» Medieval missionaries and envoys. some of whom came in via Central Asia or Ethiopia
% Spanish conquistadors

» English merchants

Question Number : 154 Question Id : 1679436470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Europeans came to India because:

Options:
« they wanted to trade in eastern goods

% China was deemed too far initially
s the wealth of India's port-towns was famous since antiquity

» All of the other options

Question Number : 155 Question Id : 1679436471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

William Hawkins (1608-11) was:

Options:

% a French merchant of English parentage

» the English ambassador of King James I to the court of Jahangir



% a famous traveller

% an allv of the Dutch company

Question Number : 156 Question Id : 1679436472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The first English merchant to visit Fatehpur Sikri and Agra was:

Options:
% Caesar Fredrick

» Ralph Fitch

% Thomas Roe

% Chaplain Terry

Question Number : 157 Question Id : 1679436473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sir Thomas Roe was:
Options:

% a famous explorer

» the leader of the second English Embassy to Jahangir's court
% an important legislator of Company law

% the director of the English East India Company

Question Number : 158 Question Id : 1679436474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Francois Bernier and Niccolo Manucci were

Options:

% Jjewellers

« doctors

% musicians



» heads of trade delegations to the Mughal court

Question Number : 159 Question Id : 1679436475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following was NOT a consideration for the commercial importance of Bengal to the English?

Options:
% Rich and extensive hinterland

% Excellent fluvial communications

% Cheaply available goods in great demand in Europe

» Well-developed local commercial institutions

Question Number : 160 Question Id : 1679436476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Jagat Seth was:

Options:
» a title for a banking family that became Treasurer-Generals of Nawabi Bengal
» a military title

 a title for a Punjabi Khatri family

« a title for all banking families
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Question Number : 161 Question Id : 1679436477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who was known as “Clive’s jackal™?
Options:

% Omichand

# Manikchand
o Mr Jafar

% Mir Kasim

Question Number : 162 Question Id : 1679436478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Bengal's economy declined after the Battle of Plassey because:

Options:
» Indian merchants now faced stiff competition from English merchants

% Indian merchants had to pay duty while English trade was duty free
» Producers were forced to sell their goods at low prices

» All of the other options

Question Number : 163 Question Id : 1679436479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
British rule impacted India

Options:



% hegatively
» hegatively but had some positive effects like certain innovations
% positively

% Vvery positively

Question Number : 164 Question Id : 1679436480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The South Asian textile industry declined due to:

Options:
% lower tariffs for Chinese goods

» competition from British mills
 declining productivity in India

» Wweakness of weavers' organisations

Question Number : 165 Question Id : 1679436481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The author wrote on the resilience of traditional Indian industries.

Options:
» Giorgio Riello

% Amiya Bagchi
» Tirthankar Roy

% Morris D Morris

Question Number : 166 Question 1d : 1679436482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
is/are (a) modern author(s) who wrote on de-industrialisation in British India.

Options:
% Amiya Bagchi



% J. Krishnamurti and Marika Vicziany
» Both Amiya Bagchi and J. Krishnamurti and Marika Vicziany

% None of the other options

Question Number : 167 Question Id : 1679436483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The British replaced traditional sailing vessels with

Options:
% Diesel-powered vessels

» Steamships
% Hydrocarbon-powered vessels

% Electric boats

Question Number : 168 Question Id : 1679436484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Railways in India connected:

Options:
% remote interiors

» remote interiors with ports
« Villages across India

» DBritish India and the Princely States

Question Number : 169 Question Id : 1679436485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The first railway line was laid in British India on

Options:
g August 23, 1852

» April 16, 1853



« April 17, 1853

« February 11, 1854

Question Number : 170 Question Id : 1679436486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The first railway line connected

Options:

% Howrah to Allahabad
% Howrah to Madras

« Bombay to Howrah

» Bombay to Thane

Question Number : 171 Question Id : 1679436487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The Howrah-Allahabad-Bombay line was officially opened on

Options:

% 11 February, 1871

% 11 March, 1870
« 7 March, 1870

s 7 February, 1870

Question Number : 172 Question Id : 1679436488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Plain cotton was initially a means of payment in:
Options:

% the African trade

« the Indian Ocean trade

% the China trade



% the Sri Lankan trade

Question Number : 173 Question Id : 1679436489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Coloured cotton from India was:
Options:

» wanted for fashionable clothing and even began to define design standards in Europe
% Needed to make wall-hangings

% Used for trimming dresses in Europe

% Used to make sails

Question Number : 174 Question 1d : 1679436490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
The Portuguese merchant Pedro Tavares:
Options:

% dealt in salt
% was a diamond merchant

» founded Hugli

% Was a grain shipper

Question Number : 175 Question Id : 1679436491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Surman Embassy was a mission to:
Options:

% Mughal emperor Akbar

% Mughal emperor Jahangir

» Mughal emperor Faruksiyar

% Mughal emperor Shah Jahan



Question Number : 176 Question 1d : 1679436492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
There was a terrible famine in Bengal in

Options:
% 1765-66

« 1769-70
# 1781-82

% 1757-58

Question Number : 177 Question 1d : 1679436493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
British India saw many famines due to:

Options:
% stockpiling of grains

% high land revenue
% extortion by land revenue officials

» All of the other options

Question Number : 178 Question 1d : 1679436494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The dates of the formative Famine Commission are

Options:
« 1880-1881
% 1901-1902

# 1903-1904

# 1384-1885

Question Number : 179 Question Id : 1679436495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



There was another infamous Bengal famine in
Options:

# 1947

1943

# 1946

# 1932

Question Number : 180 Question Id : 1679436496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who wrote England § Treasure by Foreign Trade?

Options:
» Roger Coke
+ Thomas Mun

« Ephraim Smith

% Josiah Child
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Question Number : 181 Question 1d : 1679436497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who wrote ‘Foreign trade produces riches, riches power, and power preserves our trade and religion’?

Options:
» Admiral Watson at the siege of Falta

% Robert Clive
« Josiah Child

% Francois Dupleix

Question Number : 182 Question 1d : 1679436498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who wrote to King James of England: ‘I desire your Majesty to command your merchants to bring in their ships all
sorts of rarities and rich goods fit for my palace’?

Options:
% Sikander Lodi

% Mughal emperor Akbar

« Emperor Babur

» Mughal emperor Jahangir

Question Number : 183 Question Id : 1679436499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
was an early European traveller who visited the Buxar region of today's North Bengal.

Options:
% Duarte Barbosa

» Ralph Fitch



% Caesar Frederick

% Ludovico di Varthema

Question Number : 184 Question Id : 1679436500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The British Indian Association was founded in Calcutta in

Options:
1851
# 1876

# 1852

# 1866

Question Number : 185 Question Id : 1679436501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The East India Association in London and Bombay was founded in

Options:
% 1870
& 1855

# 1885

# 1869

Question Number : 186 Question Id : 1679436502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Indian National Congress was founded in

Options:
# 1882
# 1871

« 1885

# 1362



Question Number : 187 Question 1d : 1679436503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Dadabhai Naoroji:

Options:
% Wrote Poverty and Un British Rule in India

% was one-time Liberal member of the House of Commons
% an ardent Parsi nationalist

» All of the other options

Question Number : 188 Question Id : 1679436504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Emergence of Indian Nationalism was written by

Options:
# RC Mehrotra
« Anil Seal

% Judith Brown

» Nandini Gooptu

Question Number : 189 Question Id : 1679436505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
“Indian nationalism was a question of the accommodation of elite aspirations.” This view is attributed to the

Options:
% Subaltern School

% Marxist School

» Cambridge School

% Nehruvian School

Question Number : 190 Question Id : 1679436506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Which Gandhian movement was called a 'spontaneous revolution’?
Options:
% Champaran

% Non-cooperation

% Civil Disobedience

» Quit India

Question Number : 191 Question Id : 1679436507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Constitution of India was introduced on

Options:
w 25 Janvary, 1948

26 January, 1950
« 25 January, 1950

« 15 August, 1948

Question Number : 192 Question Id : 1679436508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which was NOT a part of the basic principles and values of the Indian Constitution?

Options:
% India will be a secular and democratic republic

» It would adopt the parliamentary model based on adult franchise
« All citizens are equal before law

» Girls would get free education

Question Number : 193 Question Id : 1679436509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Mesopotamia is the region where:

Options:



« religion originated
» the world’s earliest civilisation developed
% river transport was crucial

% bhuman settlements first originated

Question Number : 194 Question Id ;: 1679436510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Mesopotamia is located in:

Options:
+ South-western Asia

% North-east Asia
% North-west Asia

% North Asia

Question Number : 195 Question Id : 1679436511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The word ‘Mesopotamia’ is:

Options:

» @ Greek word meaning "between rivers’

% an Akkadian term meaning “fertile plains’
» a Hebraic word meaning *human civilisation’

% a Greek term for mountains

Question Number : 196 Question Id : 1679436512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The region of Mesopotamia included what is now
Options:

% Iran and Iraq



% Iraq and Lebanon
» Eastern Syria, South-eastern Turkey, and most of Iraq

» Turkey and Greece

Question Number : 197 Question Id : 1679436513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The rivers in Mesopotamia are

Options:
% the Indus and Syr Darya

» the Tigris and Euphrates rivers
% the Amu Darvya and Indus

» the Nile and Tigris

Question Number : 198 Question Id : 1679436514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Physically. Greece consists of:

Options:
% Inland territories

» a mainland and an archipelago of islands
 Tertile river valleys

% hills

Question Number : 199 Question Id ;: 1679436515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ancient Greece is the birthplace of

Options:
« Western philosophy (Socrates, Plato, and Aristotle)

% Literature (Homer and Hesiod)



% Mathematics (Pythagoras and Euclid)

» All of the other options

Question Number : 200 Question Id : 1679436516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Sophocles, Euripides and Aristophanes were:

Options:
% Greek democrats and orators

« dramatists

% dramatists and writers

% historians
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Question Number : 201 Question Id : 1679436517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Herodotus was

Options:
% a famous warrior

% the first scientist
« the first historian

% a well-known philosopher from Miletus

Question Number : 202 Question Id : 1679436518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

On which river is Rome located?
Options:

# Tiberino

% Romulus
% Po

« Tiber

Question Number : 203 Question Id : 1679436519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
was the first Roman emperor.

Options:
% Constantine

# Caesar

v Augustus

% Tiberius

Question Number : 204 Question Id : 1679436520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Roman Empire encompassed:



Options:
% Anatolia, Western Europe and Turkey

» Germany and France
% Europe and Central Asia

» Most of continental Europe, Britain, much of western Asia, northern Africa and the Mediterranean islands.

Question Number : 205 Question Id : 1679436521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Japan had imperial ambitions in .

Options:
% Manchuria

» Russia
W Manchuria, Philippines and Korea

% None of the other options

Question Number : 206 Question Id : 1679436522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Emperor introduced Christianity in the Roman Empire.
Options:

+ Constantine

% Theodoric
% Theodosius

# Nero

Question Number : 207 Question Id : 1679436523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Islam rose as political force in:
Options:

% the ninth century



» the seventh century

# 1173 CE

# 786 CE

Question Number : 208 Question Id : 1679436524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Islam first rose in

Options:
« Arabia

% Southern Spain

% Morocco

% North Africa

Question Number : 209 Question Id : 1679436525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In medieval Europe, a fair number of Muslims lived in
Options:

# France

» Spain
» Portugal

% Malta

Question Number : 210 Question Id : 1679436526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The crusades were:
Options:

» a series of Holy Wars

% large migratory movements



» a series of Holy Wars undertaken by Christians

% confined to Eastern Europe

Question Number : 211 Question Id : 1679436527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who gave the call for crusades?

Options:
% The Archbishops

» The Pope
« Kings

% The Bishops

Question Number : 212 Question Id : 1679436528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The crusades were:
Options:

# few in number

% moderate in number

» many in number but historians disagree as to the actual number

% humerically a major factor in the history of early modern Europe

Question Number : 213 Question Id : 1679436529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Fourth Crusade took place in

Options:
# 1177

# 1074

« 1204



# 1323

Question Number : 214 Question Id : 1679436530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The crusades were:

Options:

» ultimately inconclusive as Muslims were not totally expelled

% abortive
% a success

% a costly failure

Question Number : 215 Question Id : 1679436531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who was Caliph at the time of Charlemagne?

Options:
% Rashid ud-din
% Abbas ud-din

« Harun al Rashid

% Abu Bakr

Question Number : 216 Question Id : 1679436532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What was the main difference between Islamic civilisation and feudal culture in the West?
Options:

% The difference lay in the degree of piety

% The former was largely urban while the latter was mainly rural

% Islam showed mobility while feudal Europe was much more static

Both The former was largely urban while the latter was mainly rural and Islam showed mobility while feudal Europe
+ Wwas much more static



Question Number : 217 Question Id : 1679436533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Caliph presented Charlemagne with:

Options:
% a silver sword

« a semi-mechanical clock

« two silver filigree trunks

% a gold statue

Question Number : 218 Question Id : 1679436534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Islam was a progressive force in Western Europe because:
Options:

» it showed an alternative to the feudal system

% 1t reformed the Latin script
% It cleared marshes and swamps and increased the amount of cultivable land

% It reformed the canonical Christian texts

Question Number : 219 Question 1d : 1679436535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Islamic scholars:

Options:

% introduced Aristotle to the Latin West

% wrote commentaries on the classical Greek texts

% wrote commentaries on the classical Greek texts and enriched the twelfth and fifteen renaissances

Both introduced Aristotle into the Latin West and wrote commentaries on the classical Greek texts and enriched the
+ twelfth and fifteen renaissances

Question Number : 220 Question 1d : 1679436536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Islam connected East and West and:
Options:
% increased trade

% Introduced paper., medieval weapons technology and numerals from China and India to Europe

» refined medieval cartography

Both introduced paper. medieval weapons technology and numerals from China and India to Europe and refined
» medieval cartography
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Question Number : 221 Question Id : 1679436537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Early Islam was against:
Options:

% trade



 usury
% merchants

% wars to defend faith

Question Number : 222 Question 1d : 1679436538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the eleventh century, the Muslims:

Options:
controlled the Eastern Mediterranean and prevented merchants from the Latin West and Byzantium from reaching
» important trade routes

% converted feudal lands into their own demesne

% fought in France

% reached the shores of England

Question Number : 223 Question 1d : 1679436539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which scholar placed inner Asian nomads at the centre of world history from A.D. 1000 to 15007

Options:
« William McNeill

% Owen Lattimore
% Nicola di Cosmo

% Sven Hedin

Question Number : 224 Question 1d : 1679436540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Pastoral economy was important in:

Options:
% retaining nomadic vigour

» establishing inner Asian city states



» determining certain patterns of exchange and political interaction between nomads and farmers

% central Asian interactions with medieval Europe

Question Number : 225 Question Id : 1679436541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Feudalism consolidated itself in:
Options:

# France

» Byzantium
% Merovingian times

» the Carolingian Empire

Question Number : 226 Question Id : 1679436542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Song of Roland is:

Options:
% medieval French song

% an epic poem from Charlemagne's time

% an epic poem based on the Battle of Roncevaux pass in 778

» Both An epic poem from Charlemagne's time and An epic poem based on the Battle of Roncevaux pass in 778

Question Number : 227 Question Id : 1679436543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The theory of the commercial revolution of the Middle Ages was propounded by
Options:

% Fernand Braudel

» Robert S. Lopez

% Henri Pirenne



# MM Postan

Question Number : 228 Question Id : 1679436544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The commercial revolution occurred largely in:

Options:
« England

» Byzantium
» Italy

# QGreece

Question Number : 229 Question Id : 1679436545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who wrote The Canterbury Tales?
Options:

% Francesco Petrarch

» Geofirey Chaucer
% Poggio Bracciolini

% Alberti

Question Number : 230 Question Id : 1679436546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The Roman de la Rose:

Options:

% Wwas composed between 1230 and 1275

« Wwas authored by Guillaume de Lorris and Jean de Meun

% had twenty five lines

» Both Was composed between 1230 and 1275 and was authored by Guillaume de Lorris and Jean de Meun



Question Number : 231 Question Id : 1679436547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
laid the basis of feudalism.

Options:
# Clovis

» Charlemagne
% Pepin

% None of the other options

Question Number : 232 Question Id : 1679436548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Carolingian Renaissance refers to:

Options:
% a revolution in music

% an art movement in medieval Europe
» a feudal renaissance led by Charlemagne

% a revolution in letters in twelfth century Europe

Question Number : 233 Question Id : 1679436549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is NOT true regarding the Carolingian renaissance?

Options:
% It reformed the Latin script

« It recovered Aristotelian texts

% It cleared marshes and swamps and increased the amount of cultivable land

« It saw the beginnings of medieval art

Question Number : 234 Question 1d : 1679436550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Feudalism reached a high point in the

Options:
» twelfth century

+ twelfth and thirteenth centuries

% thirteenth century

» eleventh century

Question Number : 235 Question Id : 1679436551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
were authors who wrote on agricultural productivity during the feudal age.

Options:
% Emmanuel le Roy Ladourie and Fernand Braudel

» Georges Duby and Lynn Hunt

% Francois Furet and Pierre Nora

% M M Postan and Maurice Lombard

Question Number : 236 Question Id : 1679436552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The so-called Black Death occurred in

Options:
« 1347-1350

% 1349 and 1350
# 1351

% 1457

Question Number : 237 Question Id : 1679436553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The twelfth century renaissance saw:

Options:



% The initial recovery of Aristotle, the rise of towns and the return of an urban economy in feudal Europe
% The rise of the universities
% The supremacy of the church

Both The initial recovery of Aristotle, the rise of towns and the return of an urban economy in feudal Europe and The
« rise of the universities

Question Number : 238 Question Id : 1679436554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
were two intellectuals of the twelfth century European renaissance.

Options:
% St. Augustine and Albertus Magnus

» Thomas Aquinas and William of Ockham
% Thomas Aquinas and St. Augustine

« Albertus Magnus and St. Jude

Question Number : 239 Question Id : 1679436555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Niccolo Machiavelli wrote The Prince for

Options:
# St. Bede

« The Medici
% The Borgias

% Anselm

Question Number : 240 Question Id : 1679436556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which is NOT true with regard to the fifteenth century European Renaissance?
Options:

% Petrarch was the first humanist



» Poggio Bracciolini was a noted scholar
% The renaissance followed the ‘dark ages’ in Europe

» The renaissance was marked by anti-classicism
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Question Number : 241 Question Id : 1679436557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which is NOT true for the Italian renaissance?
Options:

» It was marked by a liking for classical art

» It was marked by an avid thirst for recovering the Greek classics

% It wanted to recover Aristotelian texts



» It enjoyed medieval frescoes

Question Number : 242 Question Id : 1679436558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Petrarch wrote letters to

Options:
% Alison

" Laura

» Margherita of Savoy

% Queen Christina of Sweden

Question Number : 243 Question Id : 1679436559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Dante wrote the

Options:
% Comedia dell 'arte

» Divine Comedy
w Harlequinade

« Chronicles of Florence

Question Number : 244 Question 1d : 1679436560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Dante’s muse was

Options:
+ Beatrice
% Isis

% Artemis

% Sarah



Question Number : 245 Question Id : 1679436561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who was called a “Christian humanist’?
Options:

" Erasmus

% Rousseau
% Dante

% Voltaire

Question Number : 246 Question Id : 1679436562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The second serfdom occurred in

Options:
# France

% Lithuania
+ Poland

« Germany

Question Number : 247 Question Id : 1679436563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The theory of cities as engines of history in early modern Europe was propounded by

Options:
+ Fernand Braudel

% Maurice Lombard
% T H Ashton

# M M Postan

Question Number : 248 Question Id : 1679436564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The urban revolution occurred largely in

Options:



% North-west Europe
» Mediterranean Europe
» England

% France

Question Number : 249 Question Id : 1679436565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Rosicrucian enlightenment happened in

Options:
% The Netherlands

» Central Europe
% Southern Europe

« England

Question Number : 250 Question Id : 1679436566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
is an author who has written extensively on the European Renaissance.

Options:
% E P Thompson

# E J Hobsbawm
+ Peter Burke

% Michael Burke

Question Number : 251 Question Id : 1679436567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tycho Brahe and Copernicus were forerunners of

Options:
« Galileo



% Francis Bacon
% Sir Isaac Newton

% Descartes

Question Number : 252 Question 1d : 1679436568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Francis Bacon represented the last of the:

Options:
% Investigative scientific model

% Deductive theorists
« Crafts tradition

% Inductive thinkers

Question Number : 253 Question Id : 1679436569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
authored The Art of the Courtier.

Options:
» Baldassare Castiglione

% Aristotle
% Vitruvius

% Francesco Petrarch

Question Number : 254 Question Id : 1679436570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
John Selden advocated

Options:
W@ marine Openness

" marine closure



« Iree passage

% free trade

Question Number : 255 Question Id : 1679436571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hugo Grotius:

Options:
» foresaw the Westphalian political model

s laid the principle of the modern states system

% advocated freedom of the seas

» All of the other options

Question Number : 256 Question Id : 1679436572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Protectionism was practised by European states to:

Options:
» brotect and promote domestic manufacturing industries

« Safeguard shipping
% facilitate international law

% have fruitful international relations

Question Number : 257 Question Id : 1679436573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The notion of 'national merchants' was promoted by:

Options:
% Sea born empires

« Portugal's imperial system

» Mercantilist theory



% Spanish imperialism

Question Number : 258 Question Id : 1679436574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Bullionism was:

Options:

» devoted to exporting silver

» a part of early mercantilism
% a part of free trade

% supported by Adam Smith

Question Number : 259 Question Id : 1679436575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Mercantilism promoted:

Options:
% freedom of the seas

% economic nationalism

% government regulation of a nation's economy

» Both Economic nationalism and Government regulation of a nation's economy

Question Number : 260 Question Id : 1679436576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Mercantilism was a doctrine favouring

Options:
% Protectionism
% War-like states

« A scramble for wealth among nations

» All of the other options
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Question Number : 261 Question Id : 1679436577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who advocated laissez faire economics?
Options:

# Thomas Malthus

« Adam Smith
% T.H. Ashton

% Karl Marx

Question Number : 262 Question Id : 1679436578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The July Revolution of 1830 occurred in

Options:



5 Italy

« France
% Austria

% Russia

Question Number : 263 Question Id : 1679436579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Industrial Revolution in England was preceded by:

Options:
+ a commercial revolution

% an agrarian revolution
s the rise of capitalist agriculture

% lots of wars and disturbances

Question Number : 264 Question Id : 1679436580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Industrial Revolution was accompanied by:

Options:
» a transport revolution

% a medical revolution
% a building revolution

% enlightened thinking

Question Number : 265 Question Id : 1679436581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The greatest imperial power in the seventeenth century were the
Options:

% Spanish conquistadors



w Portuguese

« Dutch

» English

Question Number : 266 Question Id : 1679436582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
was the centre of the world economy in the seventeenth century.

Options:
% Lisbon

5 Antwerp
% Genoa

« Amsterdam

Question Number : 267 Question Id : 1679436583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The eighteenth century saw the consolidation of the Roval Exchange in

Options:
5 DBruges

« London
% Venice

% Paris

Question Number : 268 Question Id : 1679436584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
was the strongest imperial power in the eighteenth century.

Options:
% France

» England



« Germany

% Russia

Question Number : 269 Question 1d : 1679436585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The French Revolution occurrad in

Options:
® 1792

# 1793

« 1789

Question Number : 270 Question Id : 1679436586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who abolished Russian serfdom?
Options:

» Friedrich Engels

% Tsar Nicholas I
« Tsar Alexander IT

% Karl Marx

Question Number : 271 Question Id : 1679436587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The nineteenth century saw:

Options:
» colonialism in Asia and Africa and the growth of democracy and liberalism in Europe

% colonial control with emancipation of slaves

% decolonisation and independence in the Balkans



% lmperialism and decolonisation

Question Number : 272 Question Id : 1679436588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
James Mill was a

Options:
« Scottish historian
% Liberal Member of Parliament

% Minister

» Conservative MP and apologist for the East India Company

Question Number : 273 Question 1d : 1679436589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The major European powers colonising Africa were:

Options:
» England. France. Italy and Germany

» England and France
% Russia and Germany

s Italy and Austria

Question Number : 274 Question 1d : 1679436590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Industrial Revolution started with

Options:
% animal strength
» Steam power

% medical cures

% improvements to the plough



Question Number : 275 Question 1d : 1679436591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Before the Opium Wars, China was

Options:
% a closed economy

« the centre of the world in its perception
% a costly failure

» Both A closed economy and The centre of the world in its perception

Question Number : 276 Question 1d : 1679436592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Sino-Japan was concluded in

Options:
# 1876
% 1894

o 1895

# 1900

Question Number : 277 Question Id : 1679436593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Nationalist China saw:

Options:

« the fragmentation of central rule in China

% the rise of warlords

% amonetary revolution

» only the fragmentation of central rule in China and the rise of warlords

Question Number : 278 Question Id : 1679436594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Once in power. Mao's two important movements were:
Options:
% the Hundred Day's Reform

% the May Fourth Movement
% the Yennan Way

» the Great Leap Forward and the Cultural Revolution

Question Number : 279 Question 1d : 1679436595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Japan's closest neighbours are:

Options:
» Russia, China, Korea and Philippines

% China and US
# Korea

% None of the other options

Question Number : 280 Question Id : 1679436596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Tokugawa period preceded the:
Options:

% Hundred Day's Reform Movement

» Meiji Restoration
% Heian period

» Kamakura period
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Question Number : 281 Question Id : 1679436597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence choosing the correct option.

If an infant tends to be irritable or cries excessively, one of the reasons could be:

Options:
% Improper nutrition during pregnancy

» Hard work during pregnancy
» Emotional stress during pregnancy

» Delivery done by caesarean section

Question Number : 282 Question 1d : 1679436598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Using radio, TV and films as suggested by NPE is a way for:

Options:



% FEducation for all

» Primary education

« Adult education

% Vocation training

Question Number : 283 Question Id : 1679436599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Using an experiment method for learning can be effective when the teacher is a:

Options:
% Demonstrator

% Instructor
+ Facilitator

% Resource provider

Question Number : 284 Question Id : 1679436600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Phonetic approach helps to develop:
Options:

» Writing skills

» Reading ability

# Social skills

% Story telling skills

Question Number : 285 Question 1d : 1679436601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Complete the sentence choosing the correct option.

Graphs and diagrams are a type of:
Options:
% Pictorial communication

» Non-verbal representations
% Signals

« Symbolic representations

Question Number : 286 Question Id : 1679436602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

One of the appropriate methods in teaching social sciences is:
Options:
% Laboratory activities

+ Visit to historical site
% Using PowerPoint presentation

% Question-answer method

Question Number : 287 Question Id : 1679436603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence choosing the correct option.

One of the implications of “Empowerment™ is:
Options:

% Accepting others” decisions

» Making informed choices

% Protection

» Deing aggressive



Question Number : 288 Question 1d : 1679436604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Substituting numbers in a given formula in the Bloom’s taxonomy comes under the level of:
Options:
% Synthesis

% Application
» Knowledge

» Understanding

Question Number : 289 Question 1d : 1679436605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A herbarium activity in science for learners in secondary school helps them:

Options:
% Develop language skills

w Learn to compute
» Develop psychomotor skills

» Develop observation and identification skills

Question Number : 290 Question Id : 1679436606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Using cartoons helps one develop:
Options:
% Motor skills

» Self-expression

% Speech



% Scientific skills

Question Number : 291 Question Id : 1679436607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Music-based learning helps in:
Options:
» Retention of learning

% Understanding of concepts
« Teaching concepts

« Group activities

Question Number : 292 Question Id : 1679436608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Reena wants to test a student’s sensitivity to environment. Which is the best-suited method?

Options:
% Drama

% Composing music to songs
+ Simulations

% Role play

Question Number : 293 Question 1d : 1679436609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Collection of related web pages is called:
Options:
% Web master

« Web site



w Home page

% Uniform resource locator

Question Number : 294 Question 1d : 1679436610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Representing data in Excel sheets as graphs follows the sequence:

Options:
% Select sheet 1 — design — custom graphs — insert

+ Select rows and columns — insert — columns — cone

% Select table — insert — clip art

« Select data — layout — charts — pie

Question Number : 295 Question Id : 1679436611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Multicultural school setups benefit from:

Options:
% Restricted curriculum

% Open syllabus

+ Flexible curriculum

% Multi-level curriculum

Question Number : 296 Question 1d : 1679436612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Grading system of evaluation is based on:

Options:



% Norm referencing
» Criterion referencing
» Project method

% Interview method

Question Number : 297 Question Id : 1679436613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the correct option.

Progress in debate and discussion can be best measured using:

Options:
% Questionnaire

% Checklist

» Rating scale and rubrics

% Formative assessment

Question Number : 298 Question Id : 1679436614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence choosing the correct option.
Anecdotal records are:

Options:
« Report of a student’s performance in exams

% Teacher reflections

» Record of specific instances of student behaviour

% Administrative documents

Question Number : 299 Question Id : 1679436615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Complete the sentence choosing the correct option.
Inclusion means to accommodate:

Options:
% Children with special education needs

% Children from schedule tribes
% Poor children

» All types of children

Question Number : 300 Question Id : 1679436616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Complete the sentence choosing the correct option.
Special educators help teachers in setting targets through:
Options:

% Lesson plans

» Individualized education plans
» Question papers

% Report cards



